R EABIRENEAALIE M5 4ia HEB  TaNs

e T AR TR
Wt RNFEMEAA LR £ AL F R %
£ | 8% | A

* T4 A HAk ok

I,

2.

3.

AR W T 7 42X (Differential Equation) &) % 22 * (25%)

ity o d*y r‘.‘f" 15v. =
*dxe Yae T Max ke

A @A k7% (Gauss Elimination) KT 7172 X 69 72 M - (25%)

X 2%+ xy — x4+ 2xg = 3
Xy + 4x; + 5x; — 3x,+ 8x; = 2
=2x; — x; + dx; — xy+ Sy =—10

(.

3x; + 7x; + 5x; — dx, + 9x; 4

@) EER Liai@E 4:32]) BRZ T aaEb=[LL1] RELEL T X - (10%)

(b) KEREENFRIr+4p+52=9 2 ERkE 6 F n - (10%)

(©) REGEREF(r)=zi+xj+ yk BB 1 A 2
2Bt C ootk s [ F-drzfi» ¢ Cf;_
B2 e b 4 C?J'%)..%l( )— costi+ sin#j+ 3tk -
0<t<27  (10%)

B 1 ﬁ??&t%/ﬁaCé’JT - &

CHRRATFAH T EES L 2 — kMR

i Qw10
 EHTER =
Wi R u(0,0)=u(L,7)=0
B sttt 1 u(n0)= 1(x) - %&w = g(x)

¥ ule,r)=4 o4 5 c=mik (mm




